



Generalization of a fixed point theorem of Suzuki type in complete convex space

Savita Gupta,

Department Of Mathematics, Shri Shankaracharya Institute Of Technology And Management
Bhilai(C.G.),492001
INDIA.

savita.gupta17@gmail.com

Rakesh Tiwari,

Department Of Mathematics, Govt.V.Y.T.PG.Autonomous College Durg (C.G.),491001
INDIA.

rakeshtiwari66@gmail.com

Abstract. The aim of this paper is to generalize a fixed point theorem given by Popescu[20]. We also complement and extend some very recent results proved by Suzuki [T. Suzuki, A generalized Banach contraction principle that characterizes metric completeness, Proc. Amer. Math. Soc. 136 (2008) 1861 - 1869]. We furnish an example to validate our result.



Council for Innovative Research

Peer Review Research Publishing System

Journal: JOURNAL OF ADVANCES IN MATHEMATICS

Vol .10, No 1

www.cirjam.com ,editorjam@gmail.com



1. Introduction

Let (X, d) be a metric space, T a self-mapping on X and k a nonnegative real number such that the inequality $d(Tx, Ty) \leq kd(x, y)$ holds for any $x, y \in X$. If $k < 1$ then T is said to be a contractive mapping and if $k = 1$, then T is said to be a nonexpansive mapping. The Banach theorem states that if X is complete, then every contractive mapping has a unique fixed point. There exists an ample vast literature about contractive and nonexpansive type mappings, where the contractive and nonexpansive conditions are replaced with more general conditions (see, for instance [1 - 13]).

In 1980 Gregus[15] proved the following result.

Theorem 1.1. Let C be a nonempty closed convex subset of a Banach space B and $T : C \rightarrow C$ a mapping that satisfies

$$PTx - TyP \leq aPx - yP + b[Px - TxP + Py - TyP], \quad (1)$$

for all $x, y \in C$, where $a > 0$, $b > 0$ and $a + 2b = 1$. Then T has a unique fixed point.

This result motivated many authors in further investigations. Abdeljawad and Karapinar[1], Ciric [4], Delbosco et al.[10], Diviccaro et al.[12], Fisher[13], Fisher and Sessa[14], Jungck[16], Li[17], Murthy et al.[18], Mukherjee and Verma[19], Raswan and Ahmed[22]. Ciric[5] has constructed an example to show that if the mapping T satisfies Bogin result 1.1[21] with $b = 0$ and if a and c are such that (1) holds, then T need not have a fixed point. The following remarkable generalization of the classical Banach contraction theorem, due to Suzuki[26], has lead to some important contributions in metric fixed point theory (see, for instance, [11,20,23,25 - 28]).

In 2009, Popescu[21] generalizes Theorem 1.1.

Theorem 1.2 Let X be a complete convex metric space and let $T : X \rightarrow X$ be a selfmapping. Assume that $1/2d(x, Tx) \leq d(x, y)$

$$\text{which implies } d(Tx, Ty) \leq ad(x, y) + bd(x, Tx) + bd(y, Ty),$$

where $a > 0$, $b > 0$ and $a + 2b = 1$. Then T has a unique fixed point.

Recently, Tiwari et al. [29] proved a common fixed point theorem for weakly compatible mappings in symmetric spaces satisfying an integral type contractive condition.

In this paper, we establish a common fixed point theorem of Suzuki type in complete convex metric space which generalizes Theorem 2.4 Popescu[21].

Now, we require following definition to prove our next result.

Definition 1.3 (Takahashi[28]) Let (X, d) be a metric space. A mapping $W : X \times X \times [0, 1] \rightarrow X$ is said to be a convex structure on X if for each $(x, y, \lambda) \in X \times X \times [0, 1]$ and $u \in X$ $d(u, W(x, y, \lambda)) \leq \lambda d(u, x) + (1 - \lambda)d(u, y)$. The metric space X together with W is called a convex metric space. It is obvious that in a convex metric space we have $d(x, W(x, y, \lambda)) = (1 - \lambda)d(x, y)$ and $d(y, W(x, y, \lambda)) = \lambda d(x, y)$.

Now we prove a generalization of Popescu[21] theorem.

2. Main results

Theorem 2.1. Let X be a complete convex metric space and let $T : X \rightarrow X$ be a selfmapping. Assume that $1/2d(x, Tx) \leq d(x, y)$ which implies

$$\begin{aligned} & d(Tx, Ty) + p \max\{d(x, y), d(x, Tx) + d(y, Ty)\} \\ & \leq ad(x, y) + bd(x, Tx) + bd(y, Ty), \end{aligned} \quad (2)$$

where $a > 0$, $b > 0$, $p \geq 0$ and $a + 2b - p = 1$. Then T has a unique fixed point.

Proof. Let $x_0 \in X$, $u_n = T^n x_0$ and $d_n = d(u_n, u_{n+1})$. Since $1/2d(T^n x_0, T^{n+1} x_0) \leq d(T^n x_0, T^{n+1} x_0)$, we have from the assumption that

$$d_{n+1} + p \max\{d_n, d_n + d_{n+1}\} \leq ad_n + bd_n + bd_{n+1}.$$



Thus, $d_{n+1} \leq \frac{a+b-p}{1-b+p} d_n = d_n$ for all $n \geq 0$. So, d_n is a decreasing sequence.

Let $t = W(Tx_0, T^2x_0, 1/2)$ and $z = W(T^2x_0, T^3x_0, 1/2)$. Suppose that $d(Tx_0, z) < 1/2d(Tx_0, T^2x_0)$.

Since $d(T^2x_0, z) = 1/2d(T^2x_0, T^3x_0) \leq 1/2d(Tx_0, T^2x_0)$, it follows that

$$\begin{aligned} d(Tx_0, T^2x_0) &\leq d(Tx_0, z) + d(T^2x_0, z) \\ &< d(Tx_0, T^2x_0), \end{aligned}$$

which is a contradiction.

Thus we have $d(Tx_0, z) \geq 1/2d(Tx_0, T^2x_0)$. From the assumption we obtain

$$\begin{aligned} d(T^2x_0, Tz) + p \max\{d(Tx_0, z), d(Tx_0, T^2x_0) + d(z, Tz)\} \\ \leq ad(Tx_0, z) + bd(Tx_0, T^2x_0) + bd(z, Tz). \end{aligned}$$

Since

$$1/2d(T^2x_0, T^3x_0) = d(T^2x_0, z) \leq d(T^2x_0, z),$$

we also obtain,

$$\begin{aligned} d(T^3x_0, Tz) + p \max\{d(T^2x_0, z), d(T^2x_0, T^3x_0) + d(z, Tz)\} \\ \leq ad(T^2x_0, z) + bd(T^2x_0, T^3x_0) + bd(z, Tz). \end{aligned}$$

Therefore,

$$\begin{aligned} d(z, Tz) &\leq 1/2d(Tz, T^2x_0) + 1/2d(Tz, T^3x_0) \\ &\leq 1/2[ad(Tx_0, z) + bd(Tx_0, T^2x_0) + bd(z, Tz) \\ &\quad - p \max\{d(Tx_0, z), d(Tx_0, T^2x_0) + d(z, Tz)\}] \\ &\quad + 1/2[ad(T^2x_0, z) + bd(T^2x_0, T^3x_0) \\ &\quad + bd(z, Tz) - p \max\{d(T^2x_0, z), d(T^2x_0, T^3x_0) + d(z, Tz)\}]. \end{aligned}$$

Thus we get

$$(2-2b)d(z, Tz) \leq ad(z, Tx_0) + ad(z, T^2x_0) + 2bd(x_0, Tx_0) - 2pd(z, Tz) - 2pd(x_0, Tx_0)$$

or

$$(2-2b+2p)d(z, Tz) \leq ad(z, Tx_0) + ad(z, T^2x_0) + 2bd(x_0, Tx_0) - 2pd(x_0, Tx_0)$$

and so,

$$d(z, Tz) \leq \frac{a}{1+a+p} d(z, Tx_0) + \frac{a}{2(1+a+p)} d(T^2x_0, T^3x_0) + \frac{2b-2p}{1+a+p} d(x_0, Tx_0)$$



$$\begin{aligned} &\leq \frac{a}{1+a+p} d(z, Tx_0) + \frac{a}{2(1+a+p)} d_0 + \frac{1-a-p}{1+a+p} d_0 \\ &= \frac{a}{1+a+p} d(z, Tx_0) + \frac{2-a-2p}{2(1+a+p)} d_0. \end{aligned}$$

Next we consider two cases.

Case 1 Suppose that $1/2d(x_0, Tx_0) \leq d(x_0, T^2x_0)$. By the assumption we get

$$\begin{aligned} &d(T^3x_0, Tx_0) + p \max\{d(x_0, T^2x_0), d(x_0, Tx_0) + d(T^2x_0, T^3x_0)\} \\ &\leq ad(x_0, T^2x_0) + bd(x_0, Tx_0) + bd(T^2x_0, T^3x_0) \\ &\leq a[d(x_0, Tx_0) + d(Tx_0, T^2x_0)] + 2bd_0 - 2pd_0 \\ &\leq (2a + 2b - 2p)d_0 = (1 + a - p)d_0. \end{aligned}$$

Since

$$d(z, Tx_0) \leq 1/2d(Tx_0, T^2x_0) + 1/2d(Tx_0, T^3x_0),$$

we obtain

$$d(z, Tx_0) \leq 1/2(2 + a - p)d_0.$$

Therefore

$$\begin{aligned} d(z, T_z) &\leq \frac{a}{1+a+p} \frac{2+a-p}{2} d_0 + \frac{2-a-2p}{2(1+a+p)} d_0 \\ &= \frac{a^2 - 2(a-p) + 2 - a}{2(1+a+p)} d_0. \end{aligned}$$

Since $a^2 - 2(a-p) + 2 - a < 2(1+a+p)$, taking $k_1 = \frac{a^2 - 2(a-p) + 2 - a}{2(1+a+p)}$ we have $k_1 < 1$ and

$$d(z, T_z) \leq k_1 d_0.$$

Case 2 Suppose that $1/2d(x_0, Tx_0) > d(x_0, T^2x_0)$. We will show that there exists $k_2 < 1$ such that $d(t, Tt) \leq k_2 d_0$. Assume that $d(x_0, t) < 1/2d(x_0, Tx_0)$.

If $d(Tx_0, t) \leq 1/2d(x_0, Tx_0)$, then we have

$$d(x_0, Tx_0) \leq d(x_0, t) + d(Tx_0, t) < d(x_0, Tx_0).$$

which is a contradiction. So, we get $d(Tx_0, t) > 1/2d(x_0, Tx_0)$. Since $d(Tx_0, t) = 1/2d(Tx_0, T^2x_0)$, we obtain that $d(Tx_0, T^2x_0) > d(x_0, Tx_0)$, which is also a contradiction. Therefore, we must have $1/2d(x_0, Tx_0) \leq d(x_0, t)$. By the assumption we get

$$\begin{aligned} &d(Tx_0, Tt) + p \max\{d(x_0, t), [d(t, Tt) + d(x_0, Tx_0)]\} \\ &\leq ad(x_0, t) + bd(t, Tt) + bd(x_0, Tx_0). \end{aligned}$$

Since $1/2d(Tx_0, T^2x_0) = 1/2d(x_0, t) \leq d(x_0, t)$, we also get

$$d(T^2x_0, Tt) + p \max\{d(Tx_0, t), d(t, Tt) + d(Tx_0, T^2x_0)\}$$



$$\leq ad(Tx_0, t) + bd(t, Tt) + bd(Tx_0, T^2x_0).$$

Hence we obtain

$$\begin{aligned} d(t, Tt) &\leq 1/2d(Tx_0, Tt) + 1/2d(T^2x_0, Tt) \\ &\leq 1/2[ad(x_0, t) + bd(t, Tt) + bd(x_0, Tx_0) - p \max\{d(x_0, t), d(t, Tt) + d(x_0, Tx_0)\}] \\ &\quad + 1/2[ad(Tx_0, t) + bd(t, Tt) + bd(Tx_0, T^2x_0) \\ &\quad - p \max\{d(Tx_0, t), d(t, Tt) + d(Tx_0, T^2x_0)\}]. \end{aligned}$$

Thus

$$\begin{aligned} (1-b+p)d(t, Tt) &\leq a/2d(x_0, t) + a/2d(Tx_0, t) + bd(x_0, Tx_0) - pd(x_0, Tx_0) \\ &= a/2d(x_0, t) + a/4d(Tx_0, T^2x_0) + bd(x_0, Tx_0) - pd(x_0, Tx_0) \\ &\leq a/2d(x_0, t) + (a/4 + b - p)d_0. \end{aligned}$$

Since

$$\begin{aligned} d(x_0, t) &\leq 1/2d(x_0, Tx_0) + 1/2d(x_0, T^2x_0) < 1/2d_0 + 1/4d_0 \\ &= 3/4d_0, \end{aligned}$$

we obtain $(1-b+p)d(t, Tt) \leq (3a/8 + a/4 + b - p)d_0$ which implies $d(t, Tt) \leq \frac{5/8a + b - p}{1 - b + p} d_0$.

But $5/8a + b - p < 1 - b + p$, so taking $k_2 = \frac{5/8a + b - p}{1 - b + p}$ we have $k_2 < 1$ and $d(t, Tt) \leq k_2d_0$.

Hence in all cases there exists $k < 1$ and $y \in X$ such that $d(y, Ty) < kd(x_0, Tx_0)$. Therefore $\inf \{d(x, Tx) : x \in X\} = 0$.

Next, we will prove that the infimum is attained. Take the following system of sets: $K_n := \{x \in X : d(x, Tx) \leq r/(2n)\}$, TK_n and $\overline{TK_n}$, where $\overline{TK_n}$ is the closure of TK_n , $r = (1-a+p)/(1+b-p)$, $n \geq 1$. For any $x, y \in K_n$ such that $1/2d(x, Tx) \leq d(x, y)$ we have

$$\begin{aligned} d(x, y) &\leq d(x, Tx) + d(Tx, Ty) + d(y, Ty) - p \max\{d(x, Tx), d(Tx, Ty), d(y, Ty)\} \\ &\leq \frac{r}{2n} + ad(x, y) + bd(x, Tx) + bd(y, Ty) + \frac{r}{2n} - p \max\{d(x, Tx) + d(y, Ty)\} \\ &\leq ad(x, y) + \frac{(1+b)r}{n} - 2pd(x, y) \\ &\leq ad(x, y) + \frac{(1+b)r}{n} - p \frac{r}{n}. \end{aligned}$$

Thus

$$\begin{aligned} d(x, y) &\leq \frac{1+b-p}{1-a} \cdot \frac{r}{n} \\ &= \frac{1}{n}. \end{aligned}$$



If $1/2d(x, Tx) > d(x, y)$ we have $d(x, y) < \frac{1}{2} \cdot \frac{r}{2n} < \frac{1}{n}$.

Hence $d(x, y) \leq 1/n$ for all $x, y \in K_n$, that is $diam(K_n) \leq 1/n$. Since $d(Tx, T^2x) \leq d(x, Tx)$ we have $T(K_n) \subseteq K_n$ and then, $diam(T(K_n)) = diam(K_n) \leq 1/n$.

Supposing $y \in K_n$ then for any $\varepsilon > 0$ there exists $y' \in K_n$ such that $d(y, Ty') < \varepsilon$.

If $d(y, y') < 1/2d(y', Ty')$ and $d(y, Ty') < 1/2d(Ty', T^2y')$, then

$$\begin{aligned} d(y', Ty') &< d(y, y') + d(y, Ty') \\ &< 1/2[d(y', Ty') + d(Ty', T^2y')] \leq d(y', Ty'). \end{aligned}$$

which is a contradiction. Hence, either $d(y, y') \leq 1/2d(y', Ty')$ or $d(y, Ty') \leq 1/2d(Ty', T^2y')$.

In the first case, we have by the assumption

$$\begin{aligned} d(Ty, Ty') + p \max\{d(y, y'), d(y, Ty) + d(y', Ty')\} \\ \leq ad(y, y') + bd(y, Ty) + bd(y', Ty'). \end{aligned}$$

Thus

$$\begin{aligned} d(y, Ty) &\leq d(y, Ty') + d(Ty, Ty') \\ &\leq \varepsilon + ad(y, y') + bd(y, Ty) + \frac{br}{2n} - pd(y, Ty) - p \frac{r}{2n} \\ &\leq \varepsilon + a[d(y, Ty') + d(Ty', y)] + (b-p)d(y, Ty) + \frac{br}{2n} - \frac{pr}{2n}. \end{aligned}$$

Hence

$$d(y, Ty) \leq \frac{(a+1)\varepsilon}{1-b+p} + \frac{b-p}{1-b+p} \frac{r}{2n} < \frac{a+3}{1-b+p} \varepsilon + \frac{r}{2n}.$$

In the second case, from the assumption we obtain

$$\begin{aligned} d(Ty, T^2y') + p \max\{d(y, Ty'), d(y, Ty), bd(Ty', T^2y')\} \\ \leq ad(y, Ty') + bd(y, Ty) + bd(Ty', T^2y'). \end{aligned}$$

But $d(Ty', T^2y') \leq 2d(y, Ty') = 2\varepsilon$. And then

$$\begin{aligned} d(y, Ty) &\leq d(y, T^2y') + d(T^2y', Ty) \\ &\leq d(y, Ty') + d(Ty', T^2y') + d(T^2y', Ty) \\ &\leq \varepsilon + 2\varepsilon + ad(y, Ty') + (b-p)d(y, Ty) + (b-p) \frac{r}{2n} \\ &\leq \varepsilon + 2\varepsilon + a\varepsilon + (b-p)d(y, Ty) + (b-p) \frac{r}{2n} \\ &\leq (a+3)\varepsilon + (b-p)d(y, Ty) + \frac{br}{2n} - \frac{pr}{2n}. \end{aligned}$$



Hence

$$d(y, Ty) \leq \frac{a+3}{1-b+p} \varepsilon + \frac{b-p}{1-b+p} \frac{r}{2n} < \frac{a+3}{1-b+p} \varepsilon + \frac{r}{2n} + \frac{r}{2n}.$$

Therefore, in all cases we proved that

$$d(y, Ty) \leq \frac{a+3}{1-b+p} \varepsilon + \frac{r}{2n}.$$

Since $\varepsilon > 0$ is arbitrary, we get $d(y, Ty) \leq r/(2n)$, i.e. $y \in K_n$. Hence we have $T(K_n) \subseteq K_n$. Therefore, $\{\overline{T(K_n)}\}$ is a decreasing sequence of closed nonempty sets with $\text{diam}(\overline{T(K_n)}) \rightarrow 0$ as $n \rightarrow \infty$. Thus they have a nonempty intersection. Since $\overline{T(K_n)} \subseteq K_n$, we obtain that there exists $u \in K_n$ for all n . This implies that u is a fixed point of T . If v is another fixed point of T , since $1/2d(u, Tu) = 0 \leq d(u, v)$ we have

$$\begin{aligned} d(u, v) &= d(Tu, Tv) \leq ad(u, v) + (b-p)d(u, u) + (b-p)d(v, v) \\ &= ad(u, v). \end{aligned}$$

which is a contradiction.

Remark 2.2. If we put $p = 0$ in above, we get Theorem 2.4 of Popescu[21]. Now we finish the following to validate our result.

Example 2.3. Let $X = [-1, 1]$ with the usual metric and let $T : X \rightarrow X$ be given as

$$Tx = \begin{cases} -x, & \text{if } x \in [0, 3/4] \cup (3/4, 1] = U; \\ \frac{x}{2}, & \text{if } x \in [-1, 0) = V; \\ -1/6, & \text{if } x = \frac{3}{4}. \end{cases}$$

We will prove that:

1. T has a unique fixed point.
2. T satisfies condition (4) with $a = 3/4, b = 1/4, p = 1/8$

i.e., $d(x, Tx)/2 \leq d(x, y) \Rightarrow d(Tx, Ty) \leq m(x, y)$, where

$$m(x, y) = \frac{3}{4}d(x, y) + \frac{1}{4}[d(x, Tx) + d(y, Ty)] - p \max\{d(x, y), d(x, Tx) + d(y, Ty)\}.$$

3. T does not satisfy Suzuki condition from Theorem 1.3 of Popescu[21].
4. T does not satisfy Gregus condition (2) with $a = \frac{3}{4}, b = \frac{1}{4}, p = \frac{1}{8}$.

Proof. 1 is obvious. Next, we consider the following to prove 2.

• For $x, y \in U$ then

$$m(x, y) = \frac{3}{4}|y-x| + \frac{1}{4}|2y+2x| - \frac{1}{8}|2y+2x| = \frac{3}{4}|y-x| + \frac{1}{4}|2y+2x| - (1/8)|2y+2x| = d(Tx, Ty)$$

$m(x, y) = (21/24)|y-x|$ and $d(Tx, Ty) = |y-x| \leq m(x, y)$ and (2) holds.



• If $x, y \in V$, then $m(x, y) = \frac{3}{4}|y-x| + \frac{1}{8}\frac{x+y}{2}$ and $d(Tx, Ty) = \frac{1}{2}|y-x| \leq m(x, y)$ so (2)

holds.

• If $x \in U, y \in V$, then $m(x, y) = \frac{3}{4}|(y-x)| + \frac{1}{8}|2x + \frac{y}{2}| = \frac{13}{16}y - \frac{1}{2}x$ and $d(Tx, Ty) = x + \frac{y}{2}$

Since $x \geq 0, y < 0$ we have $\frac{13}{16}y - \frac{1}{2}x \geq x + \frac{y}{2}$

and $\frac{13}{16}y - \frac{1}{2}x \geq -x - \frac{y}{2}$, so (2) holds.

• If $x \in V, y \in U$, then $m(x, y) \geq d(Tx, Ty)$ like in (iii).

• For $x \in U, y = \frac{3}{4}$, then $m(x, y) = \frac{3}{4}|x - \frac{3}{4}| + \frac{2x}{8} + \frac{11}{96}$, $d(Tx, Ty) = |x - \frac{1}{6}|$. Since

$\frac{1}{2}d(x, Tx) \leq d(x, y)$ we have $x \leq |x - \frac{3}{4}|$, so $x \leq \frac{3}{8}$. Therefore $|x - \frac{1}{6}| \leq \frac{1}{6}$ and $|x - \frac{3}{4}| \geq \frac{3}{8}$ Hence

$m(x, y) \geq \frac{9}{32} + \frac{6}{64} - \frac{11}{96} = \frac{50}{192} > d(Tx, Ty)$ then $d(Tx, Ty) \leq m(x, y)$ and (2) holds.

• For $x \in V, y = \frac{3}{4}$, then $m(x, y) = \frac{3}{4}(\frac{3}{4} - x) + \frac{1}{8}|x| + \frac{1}{8}(\frac{3}{4}) + \frac{1}{6} \geq \frac{9}{16} > \frac{1}{6}$ and

$d(Tx, Ty) = |x + \frac{1}{6}| \geq \frac{1}{6}$ ($x \in [-\frac{1}{2}, 0)$) (2) holds.

• If $x = \frac{3}{4}, y \in U$, then $m(x, y) = \frac{3}{4}|\frac{3}{4} - y| + \frac{1}{8}(\frac{3}{4} + \frac{1}{6}) + \frac{2y}{8}$ and $d(Tx, Ty) = |y - \frac{1}{6}|$. By

$\frac{1}{2}d(x, Tx) \leq d(x, y)$ we have $\frac{1}{2}(\frac{3}{4} + \frac{1}{6}) = \frac{11}{24} \leq |y - \frac{3}{4}|$ So, $y \leq \frac{17}{24}$. Therefore $m(x, y) \geq \frac{3}{4} \cdot \frac{11}{24} > \frac{1}{6}$ and

$d(Tx, Ty) \leq \frac{1}{6}$. Hence (2) holds.

• If $x = \frac{3}{4}, y \in V$, then

$m(x, y) \geq \frac{3}{4}d(Tx, Ty) = \frac{3}{4}(\frac{3}{4} - y) \geq \frac{9}{16} > \frac{1}{6}$ and $d(Tx, Ty) = |-\frac{1}{6} - \frac{y}{2}| \leq \frac{1}{6}$ ($y \in [-\frac{1}{2}, 0)$) Hence (2)

holds.

• If $x = y$ then (2) is obvious.

• If $x = 0, y = 1$, then $\theta(r)d(x, Tx) = 0 < 1 = d(x, y)$ and $d(Tx, Ty) = 1$, so condition from Theorem 1.3 of Popescu[21]. does not hold.

• If $x = \frac{3}{4}, y = 1$ we have $d(Tx, Ty) = \frac{2}{3}$ and $m(x, y) = \frac{3}{16} + \frac{1}{16} + \frac{1}{8}(\frac{3}{4} + \frac{1}{8}) = \frac{35}{96} < \frac{64}{96} = \frac{2}{3}$

so $d(Tx, Ty) > m(x, y)$. Therefore Gregus condition (1) does not hold.

References

- [1] T. Abdeljawad, E. Karapinar, A common fixed point theorem of a Gregus type on convex cone metric spaces, J. Comput. Anal. Appl. 13 (4) (2011) 609 - 621.
 [2] J. Bogin, A generalization of a fixed point theorem of Goebel, Kirk and Shimi, Canad. Math. Bull. 19 (1976) 7 - 12.



- [3] Lj.B. Ćirić, On some discontinuous fixed point mappings in convex metric spaces, *Czechoslovak Math. J.* 43 (118) (1993) 319 – 326.
- [4] Lj.B. Ćirić, Nonexpansive type mappings and fixed point theorems in convex metric spaces, *Rend. Accad. Naz. Sci. XI Mem. Mat. Appl.* (5) XIX (1995) 263 - 271.
- [5] Lj.B. Ćirić, On some nonexpansive type mappings and fixed point, *Indian J. Pure Appl. Math.* 24 (3) (1993) 145 - 149.
- [6] Lj.B. Ćirić, On a common fixed point theorem of a Gregus type, *Publ. Inst. Math.* 49 (1991) 174 - 178.
- [7] Lj.B. Ćirić, Diviccaro, Fisher and Sessa open questions, *Arch. Math.* 29 (1993) 145 - 152.
- [8] Lj.B. Ćirić, On a generalization of a Gregus fixed point theorem, *Czechoslovak Math. J.* 50 (2000) 449 - 458.
- [9] Lj.B. Ćirić, A new class of nonexpansive type mappings and fixed points, *Czechoslovak Math. J.* 49 (124) (1999) 891 - 899.
- [10] D. Delbosco, O. Ferrero, F. Rossati, Teoremi di punto fisso per applicazioni negli spazi di Banach, *Boll. Un. Mat. Ital. Sez. A* (6) 2 (1993) 297 - 303.
- [11] S. Dhompongsa and H. Yingtaweessittikul, Fixed points for multivalued mappings and the metric completeness, *Fixed Point Theory Appl.* (2009) 1 - 15. Article ID 972395.
- [12] M.L. Diviccaro, B. Fisher, S. Sessa, A common fixed point theorem of Gregus type, *Publ. Math. Debrecen* 34 (1997) 83 - 89.
- [13] B. Fisher, Common fixed points on a Banach space, *Chung Yuan J.* 11 (1982) 19 - 26.
- [14] B. Fisher, S. Sessa, On a fixed point theorem of Gregus, *Int. J. Math. Math. Sci.* 9 (1986) 23 - 28.
- [15] M. Gregus, A fixed point theorem in Banach spaces, *Boll. Unione Mat. Ital. Sez. A* (5) 17 (1980) 193 - 198.
- [16] G. Jungck, On a fixed point theorem of Fisher and Sessa, *Int. J. Math. Math. Sci.* 13 (1990) 497 - 500.
- [17] B.I. Li, Fixed point theorems of nonexpansive mappings in convex metric spaces, *Appl. Math. Mech.* 10 (1989) 183 - 188.
- [18] P.P. Murthy, Y.J. Cho, B. Fisher, Common fixed points of Gregus type mappings, *Glas. Mat.* 30 (50) (1995) 335 - 341.
- [19] R.N. Mukherjee, V. Verma, A note on a fixed point of Gregus, *Math. Japon.* 33 (1988) 745 - 749.
- [20] O. Popescu, Two fixed point theorems for generalized contractions with constants in complete metric space, *Cent. Eur. J. Math.* 7 (3) (2009) 529 - 538.
- [21] O. Popescu, Two generalizations of some fixed point theorems, *Computer and mathematics with applications* 62(2011) 3912 - 3919.
- [22] R.A. Rashwan, M.A. Ahmed, Common fixed points of Gregus type multi-valued mappings, *Arch. Math.* 38 (2002) 37 - 47.
- [23] S.L. Singh, S.N. Mishra, Coincidence theorems for certain classes of hybrid contractions, *Fixed Point Theory Appl.* (2010) 1 - 14.
- [24] T. Suzuki, A generalized Banach contraction principle that characterizes metric completeness, *Proc. Amer. Math. Soc.* 136 (2008) 1861 - 1869.
- [25] T. Suzuki, Some remarks on recent generalization of the Banach contraction principle, *Proc. of the 8th Int. Conf. on Fixed Point Theory and its Appl.*, 2007, 751 - 761.
- [26] T. Suzuki, Fixed point theorems and convergence theorems for some generalized nonexpansive mappings, *J. Math. Anal. Appl.* 340 (2008) 1088 - 1095.
- [27] T. Suzuki, A new type of fixed point theorem in metric spaces, *Nonlinear Anal.* 71 (2009) 5313 - 5317.
- [28] W. Takahashi, A convexity in metric space and nonexpansive mappings, *Kodai Math. Sem. Rep.* 22 (1970) 142 - 149.
- [29] Rakesh Tiwari, S.K. Shrivastava, V.K. Pathak, A common fixed points theorems for weakly compatible mappings in symmetric spaces satisfying an integral type contractive condition, *Hacettepe Journal of Mathematics and Statistics*, (2010), 151-158.